Living Environment

Unit 7: Evolution: Will only the strongest organisms survive?

Name___________________________________               

HOMEWORK 35- Natural Selection

Directions: Answer each question to the best of your ability.  Ask if you have questions.
1. Which of the following statements about natural selection is NOT true

(1) Natural selection is a process that leads to evolution 

(2) Competition for resources can lead to natural selection 

(3) Natural selection can be explained as “survival of the fittest”

(4) Natural selection is less likely to occur in a changing environment

2. A species that lacks the variation necessary to adapt to a changing environment is more likely to

(1) develop many mutated cells 

 (3) become extinct over time 

(2) begin to reproduce sexually

 (4) develop resistance to diseases

3. If an ecosystem is changed through a natural disaster, organisms will have the best chance of survival if

(1) their environment has few abiotic factors 

(2) the organisms are large 

(3) the population size is small 

(4) their species exhibits genetic variation

7. The graph below shows the percent of variation for a given trait in four different populations of the same species. The populations inhabit similar environments.
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In which population will the greatest number of individuals most likely survive if a significant environmental change related to this trait occurs?  Support your answer. [2]

____________________________________________________________________________________________________________________________________________________________________________________
5. Ancestors of the giant panda had rounded paws with five very short toes. Today, the giant panda has a sixth toe, often referred to as a thumb, even though it develops from a wrist bone. This unique thumb is an adaptation that allows the panda to easily hold and eat bamboo shoots. 

Identify one process that can result in adaptations such as the panda’s “thumb”.[1] 

___________________________________________________________________
6. In an environment that undergoes frequent change, species that reproduce sexually may have an advantage over species that reproduce asexually because the sexually reproducing species produce

(1) more offspring in each generation 

(2) identical offspring 

(3) offspring with more variety 

(4) new species of offspring in each generation

7. Due to a mutation, a kangaroo living in a population in Australia is born with increased leg strength.  This trait allows the kangaroo to escape predators more easily than the other kangaroos in the population.   It is able to successfully pass on this adaptation and many more kangaroos with this trait are born. 

Explain how evolutionary change might occur in this population of kangaroos over time.  In your answer be sure to include the concepts of 

-Variation [1]

- Natural Selection [1]

__________________________________________________________________________________________

__________________________________________________________________________________________

__________________________________________________________________________________________

8. A male fish had dull colored scales.  Both of its parents, and even its mate had dull colored scales as well.  However, when he created gametes via meiosis, some of the chromosomes in his sperm cells swapped genes.  As a result, some of his offspring were born with a new trait of shiny scales!  Their shininess reflected light and made it difficult for predators to see them. 

A) Identify the adaptation that the fish had.  __________________________

B)  Identify the process that created this adaptation ______________________

9. Agriculturists have developed some varieties of vegetables from common wild mustard plants, which reproduce sexually. Which statement best explains the development of these different varieties of plants?

(1) Different varieties can develop from a single species as a result of the recombination of genetic information. 

(2) Different species can develop from a single species as a result of the effect of similar environmental conditions.

(3) Mutations will occur in the genes of a species only if the environment changes.

(4) Variations in a species will increase when the rate of mitosis is decreased.
8. A population of bears living in the forest feeds primarily off of salmon in a nearby river.  However, some of the bears have thicker fur and are also able to obtain honey from beehives rather easily.  After local fisherman discovered the salmon population, they overfished the river until the salmon population was nearly wiped out.  

Explain how this human interaction might effect evolutionary change in the bear population.  In your answer be sure to include the concepts of:

- Competition [1]

- Natural Selection [1]
___________________________________________________________________________________________________________________________________________________________________________________

__________________________________________________________________________________________

6. Cone snails of the same species often exhibit variations in the patterns of their shells. State one possible cause for these variations appearing in the shell pattern within the population of the cone snails.
[1]

__________________________________________________________________________________________
